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Exam 4 Guide :: Math 111 :: November 18, 2015

1. Find the quotient and remainder of

23— 322 +5x—1 qw\ﬂ;\’\ = Xl-SX + <
T+ 2 _
revacndsm T 3
x*—5x + s

K+ > I xZ= + Sk — |
(R AR
A
—S¥X* +8% —|
- (—'D'—Y"'-ID)(\
[1§x —1
_(1‘57&1-30 &
-3
2. Find all the zeros of 2% — 22 — 412 + 105. Hint: « = 3 is a zero.
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7. Solve the equation. 10°e(==3) = (
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10. Solve the equation. log(z — 3) +log(z +3) =0
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12. Find the equation of the exponential equation of the form y = Ca® which passes through
(0,4) and (3,15).
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13. For the functions below fill in the blanks
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14. For the graphs below fill in the blanks
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